Seal weld top face
and one side only

<T 1_,|76L

Lintel edge N

/20. 6 ; \
\

s \

N
Te]

10

No weld bottom face —

ﬂi’ll*

centrally M10x25 cuphead bolt

Removable pin
closure of 3 plate.
(Supplied assembled

with M10 bolt)
/00

12 square hole, located

)

< o I
0 SECTION C-C 9 l I
. . I
% 3 sided pin closure of 3 plate 5 Ly . .
. - | ) || 2 sided pin closure
? / ? welded to frame prior to galvanising 70 |1 I I of 3 plate, welded
100x25 Flat SECTION B-B 670 (4 filet weld) : I | tolfrorn'e prior to
10 200 200 A galvanising.
Seal weld top 75x10 Flats 5
and grind flush transverse \ -
o O
= 6 5—16x16 Bars © & 12 square hole, locate
B —longitudinal B to suit closure plate
T 3 equal spaced * | \\ L 90%90x10 L
— ‘ I N T 820 x 150 bar (both sides)
=== 4 fully welded to angle
—— | —| § 6|/
bz a See detail of
i C hinge pin closure C TYPICAL
S T_ J DETAIL OF HINGE
— — (O]
E Seal weld top o PIN CLOSURES
< :'/ 4 and grind flush SE . 660 Internal A locking device shall be provided in
N =l el = accordance with clause 3.2.1.4 of AS 3996.
=] © g
[%) —
222 = — 90x90x10 L
o g rd /_
== =121 = o
'\ .
L L_{[25 x 10 Fiat 51 | soxi0 ot 3 NOTES:
I C 1. Mass of grate = 85 kg.
7 16(10) N 2. Mass of frame = 39 kg.
i %_ I N = 3. All steel flats Grade 250 to AS 3678.
_ 532 | 620 / } 4. Al steel bars and angles Grade 250 to AS 3679.
5. Grate, Frame and Hinge to be hot dip galvanised after
o Seal weld top 2 |='—' fabrication to AS 1650.
~ K_I and grind flush —¢ A | 6. Al bolt hexagonal heads to AS 1111, Nuts to AS 1112,
Washers to AS 1237 and Galv. to AS 1214,
SECTION A-A 3 7. Al welds to AS 1554. Welding symbols to AS 1101.3.
PLAN OF GRATE 8. Refer Std Dwg DS—060 and DS—063 for kerb inlet details
250x200 R10 handle _/ Refer Std Dwg DS—-061 for precosft lintel details.
9. Grate and Frame to be Class D bicycle safe to AS 3996.
PLAN OF FRAME 10. Alternative fabricated steel grate and frame may be used
when approved by relevant Council
11. All dimensions are in millimetres unless shown otherwise
These drawings have been developed in consultation between the participating Councils.
BEFORE USE, the user shall confirm that the drawing has been adopted by the appropriate Council.
C[ 06/16 [ Review DRAINAGE PITS %
C 8%1 T — INSTITUTE OF PUBSEIT%NVSREESDER\(';IINEERING AUSTRALASIA KERB INLET DS—-062 %
A 1{»(\)T/E 2 TORGNALTSSUE— — GRATE AND FRAME n



AutoCAD SHX Text
DS-062

AutoCAD SHX Text
STANDARD DRAWINGS

AutoCAD SHX Text
Rv.

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
DATE

AutoCAD SHX Text
Rv.

AutoCAD SHX Text
INSTITUTE OF PUBLIC WORKS ENGINEERING AUSTRALASIA

AutoCAD SHX Text
DRAINAGE PITS

AutoCAD SHX Text
KERB INLET

AutoCAD SHX Text
These drawings have been developed in consultation between the participating Councils.  BEFORE USE, the user shall confirm that the drawing has been adopted by the appropriate Council.

AutoCAD SHX Text
5-16x16 Bars

AutoCAD SHX Text
6

AutoCAD SHX Text
16(10)

AutoCAD SHX Text
6

AutoCAD SHX Text
6

AutoCAD SHX Text
6

AutoCAD SHX Text
Seal weld top

AutoCAD SHX Text
and grind flush

AutoCAD SHX Text
Seal weld top

AutoCAD SHX Text
and grind flush

AutoCAD SHX Text
4

AutoCAD SHX Text
Seal weld top

AutoCAD SHX Text
and grind flush

AutoCAD SHX Text
Seal weld top face

AutoCAD SHX Text
and one side only

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
%%UPLAN OF GRATE

AutoCAD SHX Text
%%uSECTION A-A

AutoCAD SHX Text
%%uSECTION B-B

AutoCAD SHX Text
%%UPLAN OF FRAME

AutoCAD SHX Text
%%uSECTION C-C

AutoCAD SHX Text
6

AutoCAD SHX Text
%%UNOTES:

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
C

AutoCAD SHX Text
(4 fillet weld)

AutoCAD SHX Text
6

AutoCAD SHX Text
%%UTYPICAL

AutoCAD SHX Text
%%UDETAIL OF HINGE

AutoCAD SHX Text
%%UPIN CLOSURES

AutoCAD SHX Text
A locking device shall be provided in 

AutoCAD SHX Text
accordance with clause 3.2.1.4 of AS 3996.

AutoCAD SHX Text
65

AutoCAD SHX Text
65

AutoCAD SHX Text
40

AutoCAD SHX Text
75 x 10 Flat

AutoCAD SHX Text
longitudinal

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
equal spaced

AutoCAD SHX Text
GRATE AND FRAME

AutoCAD SHX Text
A

AutoCAD SHX Text
A   10/12  ORIGINAL ISSUE

AutoCAD SHX Text
Road Edge

AutoCAD SHX Text
B   03/14  Amended Drawing Number 

AutoCAD SHX Text
B

AutoCAD SHX Text
1.	Mass of grate = 85 kg. Mass of grate = 85 kg. 2.	Mass of frame = 39 kg. Mass of frame = 39 kg. 3.	All steel flats Grade 250 to AS 3678. All steel flats Grade 250 to AS 3678. 4.	All steel bars and angles Grade 250 to AS 3679. All steel bars and angles Grade 250 to AS 3679. 5.	Grate, Frame and Hinge to be hot dip galvanised after Grate, Frame and Hinge to be hot dip galvanised after fabrication to AS 1650. 6.	All bolt hexagonal heads to  AS 1111,  Nuts to AS 1112, All bolt hexagonal heads to  AS 1111,  Nuts to AS 1112, Washers to AS 1237 and Galv. to AS 1214. 7.	All welds to AS 1554. Welding symbols to AS 1101.3. All welds to AS 1554. Welding symbols to AS 1101.3. 8.	Refer Std Dwg DS-060 and DS-063 for kerb inlet details Refer Std Dwg DS-060 and DS-063 for kerb inlet details Refer Std Dwg DS-061 for precast lintel details. 9.	Grate and Frame to be Class D bicycle safe to AS 3996. Grate and Frame to be Class D bicycle safe to AS 3996. 10.	Alternative fabricated steel grate and frame may be used Alternative fabricated steel grate and frame may be used when approved by relevant Council  11.	All dimensions are in millimetres unless shown otherwiseAll dimensions are in millimetres unless shown otherwise

AutoCAD SHX Text
250x200 R10 handle

AutoCAD SHX Text
90x10 Flat

AutoCAD SHX Text
75x10 Flats transverse

AutoCAD SHX Text
100x25 Flat

AutoCAD SHX Text
Lintel edge

AutoCAD SHX Text
2 sided pin closure of 3 plate, welded to frame prior to galvanising.

AutoCAD SHX Text
Removable pin closure of 3 plate. (Supplied assembled with M10 bolt)

AutoCAD SHX Text
12 square hole, located centrally M10x25 cuphead bolt

AutoCAD SHX Text
12 square hole, locate to suit closure plate

AutoCAD SHX Text
 20 x 150 bar (both sides)fully welded to angle

AutoCAD SHX Text
3 sided pin closure of 3 plate welded to frame prior to galvanising

AutoCAD SHX Text
No weld bottom face

AutoCAD SHX Text
C   06/14  Review 

AutoCAD SHX Text
C

AutoCAD SHX Text
C   06/16  Review 

AutoCAD SHX Text
D


